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Constable (GD) in CAPFs, NIA, SSF and Rifleman (GD) in
Assam Rifles Examination, 2018

[Roll No. : www.GovtJobsAlert.In
[Registration No.

IName :

[Exam Venue : iON Digital Zone iDZ Kannur
[Exam Time : 12:30 PM - 2:00 PM

[Exam Date : 11/03/2019

Section : General Section

Q.1 In a certain code, EMTWX is coded as XWTME, then how is PYSCI coded in the same way?
Ans X 1 CIPSY

X 2. CYSIP

X 3. CISPY

v 4 ICSYP

Question ID : 9895809354
Chosen Option : 4

Q.2 Four letter clusters have been given, out of which three are alike in some manner, while one is different. Choose the odd

one.

Ans X1 GAT
v 2. DAT
X 3. EAV
X 4 WAD

Question ID : 9895809349
Chosen Option : 3

Q.3 Priti scored more than Rahul. Yamuna scored as much as Divya. Lokita scored less than Manju. Rahul scored more than
Yamuna. Manju scored less than Divya. Who scored the lowest?

Ans  of 1 Tokita
X 2. Rahul
X 3. Manju

/X 4. Yamuna

Question ID : 9895809358
Chosen Option : 1

Q4 Select the related word pair from the given alternatives.

Holi : Colours ::
Ans o 1 Diwali : Light
/< 2. Muharram : Muslim
/< 3. Hemis : Folk
/< 4. Lodhi : Punjabi

(
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Question ID : 9895809351
Chosen Option : 2

Q3 Choose the option which completes the given figure series.

PROBLEM FIGURES

==|!

v 5

1l

==

Ans

=

<=

Question ID : 9895809367
Chosen Option : 2

Q.6 Inahall there are seven children (including girls and boys) P, Q, R. S, T. U and V. They sit on three benches L. IT and IIL.
Such that at least two children on each bench and at least one girl on each bench. R who is a girl child, does not sit with
P, Tand S. U the boy child sit with only Q. P sits on the bench I with his best friends. V sits on the bench IIL. T is the
brother of R.
Who sits with R?

Ans x 1§

X2U

X3 Q

viv

Question ID : 9895809356
Chosen Option : 4

Q7 Find the missing term.

119, 109, 89, 59,
Ans of 119

X 2 30

X 3 49

X 4 20

Question ID : 9895809362
Chosen Option : 1

Q.8 Choose the option that most closely resembles the mirror image of the given figure when mirror is placed at right side.

Question figure:

A

el
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Ans

Question ID : 9895809370
Chosen Option : 2

Q9 Six persons A, B, C, D, E and F are sitting in two rows, three in each.

E is not at the end of any row.

D is second to the left of F.

C. the neighbour of E is sitting diagonally opposite to D.
B is the neighbour of F.

Who is facing B?
Ans X 1A

v E

X3 D

Xag

Question ID : 9895809357
Chosen Option : 1

Q.1 Four options have been given out of which three are alike in some manner, while one is different. Choose the odd one.

0

Ans X 1. 135
X2 54
X372
v 2 83

Question ID : 9895809364
Chosen Option : 1

Q.1 The statements below are followed by two conclusions labeled I and II. Assuming that the information in the statements
1 s true, even if it appears to be at variance with generally established facts. decide which conclusion(s) logically and
definitely follow(s) from the information given in the statements.

Statements:
All flowers are fruits.
All fruits are Plants.

Conclusions:
I. All Plants are flowers.
II. Some fruits are flowers.

Ans X 1. Both Conclusions I and II follow.
< 2. Only Conclusion I follows.
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v Only Conclusion II follows.

X 4. Either Conclusion I or II follows.

Question ID : 9895809360
Chosen Option : 4

Qz-l Which number is common to all the geometrical figures in the diagram below?

X
w ™
T S

Question ID :. 9895809372
Chosen Option : 4

%! Find the missing number from the below options.

12|16 |18
2413272
36|48 | 54

Ans XL 28
v 36
X 3 48
X 4 64

Question ID : 9895809365
Chosen Option : 2

Q.1 A figure marked on transparent sheet is given and followed by four answer figures. one out of these four options
4 resembles the figure, which is obtained by folding transparent sheet along the dotted line.
This option is your answer.

Question figure:

KoL

Ans

Question ID : 9895809371
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l Chosen Option : 2

Q5-1 In the following question, select the related number from the given alternatives.

A Iy 10
Ans xl_ 57
X2 36
<3 40
v . 59

Question ID : 9895809363
Chosen Option : 1

Qb;l Select the correct option that will fill in the blank and complete the series.

AEI EIO, 10U,
Ans X' 1. QAU

v 2 OUA

X 3 IOA

X 4 MIL

Question ID : 9895809348
Chosen Option : 2

Q.1 Select the option that is related to the third term in the same way as the second term is related to the first term.
7

AE:IM:HL:?

Ans of 1 PT
X2 TP
X 3 DS
X 4 FU
Question ID : 9895809353
Chosen Option : 1
Q.1

g I ‘" means ‘=, '-' means “x’, ‘x’ means ‘-’ and ‘=’ means ‘+’, then:

43-2 X2+8 =7
Ans X142

v 2 35

X 3 25

X 4 40

Question ID : 9895809366
Chosen Option : 2

Q.1 Four words have been given, out of which three are alike in some manner, while one is different. Choose the odd one.

9

Ans X 1. Chennai
/X 2. Mumbai
/X 3. Dispur
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4 Tharkhand

Question ID : 9895809350
Chosen Option : 4

de In a certain code, GYM is coded as 2275, then how is KIT coded in the same way?

Ans  of 11980
X 21950
X 31970
X 4. 1960

Question ID : 9895809355
Chosen Option : 1

Ql-z Select the correct option that will fill in the blank and complete the series.

43, 55,79, 115,
Ans of 1163

X 2 127

X3 172

X 4 139

Question ID : 9895809361
Chosen Option : 1

Q2 Select the related word pair from the given alternatives.

Andhra Pradesh : Telugu ::
Ans X 1. Goa : Hindi
X 2. Assam : Maithili
/X 3. Tripura : Telugu
« 2 Kerala : Malayalam

Question ID : 9895809352
Chosen Option : 4

Q;,;z Which of the following answer figure will complete the given figure?

Question figure:

V%
N

x|

Ans
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v

Question ID : 9895809368
Chosen Option : 4

Q.2 The statements below are followed by two conclusions labeled I and II. Assuming that the information in the statements
4 s true, even if it appears to be at variance with generally established facts. decide which conclusion(s) logically and
definitely follow(s) from the information given in the statements.

Statements:
Some potatos are tomatos.
All tomatos are onions.

Conclusions:

I. Some tomatos are potato.
II. All onions are potato.

Ans X 1. Either Conclusion I or II follows:
' 2. Only Conclusion I follows.

< 3. Only Conclusion II follows,
& 4 Both Conclusions I and II follow.

Question ID : 9895809359
Chosen Option : 1

Qéz Choose the option figure in which the problem figure is hidden/embedded.

Question Figure:

Ans

X1 %
&
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Question ID : 9895809369
Chosen Option : 2

Qb:2 A satyagrahi could win the battle with non-violence by:
Ans (1. Appealing to the common people of the oppressors
/< 2. Appealing to the charity of the oppressors
« 2. Appealing to the conscience of the oppressors

/< 4. Appealing to the leaders of the oppressors

Question ID : 9895809546
Chosen Option : 4

Q.2 The system of Government divides the legislature into two separate assemblies, chambers or houses.
7

Ans X' 1. Unicameral
v 2. Bicameral
/< 3. Quadracameral

X 4. Tricameral

Question ID : 9895809536
Chosen Option : 2

Q.z . a = . . .
s Jiziya Tax, during the Mughal Empire was a tax levied on:

Ans X 1. Muslim citizens
< 2. All the citizens
/< 3. Noble citizens

v 4 Non-Muslim citizens

Question ID : 9895809533
Chosen Option : 1

Qéz In the 2018 Australian Open.  was the winner in the Women’s singles event.
Ans o1 Caroline Wozniacki

/< 2. Martina Hingis

& 3. Serena Williams

& 4 Venus Williams

Question ID : 9895809527
Chosen Option : 2

%3 The 2017 Sahitya Academy award for Gujarati was won by:

Ans 1. Ramesh Megh

< 2. Himanshu Patel
v 3. Urmi Desai
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# 4. David Shah

Question ID : 9895809528
Chosen Option : 1

Q.3 All the things we use or consume, except are obtained from resources on this earth.
1

Ans (1. energy from water
< 2. energy from wind
/< 3. energy from friction
« . energy from the sun

Question ID : 9895809544
Chosen Option : 3

%3 During the first world war (1914-1918):

Ans - X 1. Prices went down
< 2. Prices increased by less than 10%
< 3. Prices remained unchanged

W 2 Prices almost doubled

Question ID : 9895809545
Chosen Option : 3

%3 Bitter tasting food is in nature.

Ans X 1. Alkaline
< 2. Acidic
& 3. Neutral
v 4 Bases

Question ID : 9895809539
Chosen Option : 4

Qf Democracy is considered to be better than dictatorship as it:
Ans 1. Allows special provisions for mistakes

' 2. Enhances the dignity of people

/< 3. Reduces equality among citizens

/< 4 Encourages conflicts among people

Question ID : 9895809534
Chosen Option : 4

Q5.3 The first Indian Prime Minister to have been assassinated is:
Ans o1 Indira Gandhi

/X 2. Morarji Desai

/< 3. Lal Bahadur Shastri

/< 4. Jawaharlal Nehru
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Question ID : 9895809530
Chosen Option : 4

3 : : :
Q6 Which of the following destroys ozone?
Ans 1. Sulphur

X 2. Carbon
v 2 Chlorine
X 4 silicon
Question ID : 9895809538
Chosen Option : 2
Q7-3 Consumers have a right to seek against unfair trade practices and exploitation.

Ans X 1. Penalty
& 2. Sympathy
X 3. Injury
v 4 Redressal

Question ID : 9895809532
Chosen Option : 1

%3 Sugam Tax is related to:

Ans  of 1 Income Tax
/< 2. Custom Duty

X 3. Excise Duty

X 4 Commercial Tax

Question ID : 9895809531
Chosen Option : 4

%3 Substances said to be biedegradable:

Ans X 1. Can be broken down by physical process
< 2. Can be broken down by chemical process
2. Can be broken down by biological processes

< 4. Cannot be broken down at all

Question ID : 9895809543
Chosen Option : 2

%4 The Kulik bird sanctuary is located in:

Ans o 1 West Bengal
& 2. Uttar Pradesh
X 3. Kerala
< 2. Madhya Pradesh

Question ID : 9895809525
Chosen Option : 1
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Q1-4 In the 2016 Olympics, won the gold in women’s 100-metres sprint.

Ans o 1. Elaine Thompson
X 2. Shelly-Ann Fraser-Pryce
& 3. Gail Devers
X 4 Wyomia Tyus

Question ID : 9895809526
Chosen Option : 3

Qz"‘ The ‘Ranappa’ dance is from the state of:

Ans  of 1. Odisha
/< 2. Tamil Nadu
X 3. Kerala
X 4. Punjab

Question ID : 9895809523
Chosen Option : 2

%4 Dumbhal is a form of dance from the state of:
Ans X 1. Gujarat

X 2. Kerala

/< 3. West Bengal

v 4 Jammu and Kashmir

Question ID : 9895809524
Chosen Option : 3

Q‘i“ The first Bharat Ratna award of independent India was given to:

Ans X 1. C.N.R Rao
X 2. Jawaharlal Nehru
v 3 C.V Raman
X 4 Sardar Patel

Question ID : 9895809529
Chosen Option : 4

Q_,;“ Green algae are green because of:
Ans 3 1. phycoerythrin

« 2. chlorophyll

< 3. xanthophylls

X 4. phycobilin

Question ID : 9895809537
Chosen Option : 1

Q.4 Who amongst the following is the Minister for Rural Development in India as on Feb 20197
6
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Ans o' 1. Narendra Singh Tomar
/2. Anant Geete
/< 3. Dharmendra Pradhan
/X 4. Santosh Kumar Gangwar

Question ID : 9895809535
Chosen Option : 1

24 The Southernmost port in India is located in the state of:

Ans X1 Andhra Pradesh
' 2. Tamil Nadu
X 3. Kerala
/X 4. Telangana

Question ID : 9895809542
Chosen Option : 3

Qé4 The human sex chromosomes determine the gender of the child. with XX being:

Ans X 1. Transgender

v 2. Female
/< 3. Could be either female or male
< 4 Male
Question ID : 9895809540
Chosen Option : 4
Q.4 Harappa and were the two ancient, excavated cities that were part of the Indus Valley Civilization.
9

Ans X 1. Varanasi
/< 2. Hastinapura
X 3. Surat
+ 2. Mohenjo-Daro

Question ID : 9895809547
Chosen Option : 3

Q65 An instrument called measures ‘electric potential difference’ in a circuit.

Ans X 1. Gyroscope
& 2. Ohmmeter
v 2 Voltmeter
& 4 Thermometer

Question ID : 9895809541
Chosen Option : 3

Q.5 A solid metallic sphere of radius 4 cm is melted and recast into '4' identical cubes. What is the side of the cube?

1
Ans )
~ L ?iEcm
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X2 53J§cm
X3 63\Ecm
v 43\E€m

Question ID : 9895809713
Chosen Option : 4

Q.5 The bar graph shows the number of cycles sold by a distributor in each month from January to June. What is the increase
2  in the number of cycles sold in April as compared to March?

Number of Cycles Sold
Ans of 1 7504
X 2. 78%

< 3. 68%
X 4. 70%

-2 88 8 §

§ I

Question ID : 9895809721
Chosen Option : 2

Q.5 The ratio between the perimeter and the breadth of a rectangle is 3 : 1. If the area of the rectangle is 310 sq. cm, the
3 length of the rectangle is nearly:

Ans X1 11.45cm
X 2 1045 cm
v 3 12.45cm
X 4 13.45cm

Question ID : 9895809714
Chosen Option : 3

Q.5
4

Ans o 1. 1386 m?
X 2 1364 m?
X 3 1260 m?
X 4 1408 m?

The volume of a solid sphere is 4851 m® . What is the surface area of the sphere? (Takenr = ?)

Question ID : 9895809715
Chosen Option : 1

Q_,;‘r’ Find the value of:

(7X64+5—-15)+-4+6+-3—-4+18+3
Ans of 112
X2 14
X3 16
X4 18
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Question ID : 9895809701
Chosen Option : 1

%5 What is the reciprocal ratio of 4 : 5: 8 ?
Ans X' 1. 8:5:4

’25:4:3
7"33:4:5
vi110:8:5

Question ID : 9895809711
Chosen Option : 1

Q.5 The list price of an article is T 80. A customer pays ¥ 30 for it. He was given 2 successive discounts, one of them being
7 50%. What was the other discount?

Ans X1 20%
X 2 12.50%
X 3 30%
v 4 25%

Question ID : 9895809703
Chaosen Option : 2

Q.5 X.Y and Z can complete a piece of work in 8. 20 and 25 days respectively. Working together, they will complete the
8 same work in:

Ans . 180
x 1. o dﬂ}’S

; 162
x 2. = dﬂ}'S

200
Vs m days

: 172
P = days

Question ID : 9895809717
Chosen Option : 1

Q.5 A grocer has a sale of T 3,425, ¥ 3,810,% 3,155 and ¥ 3.610 in 4 consecutive days. How much sale should he have in the
9  5thday so as to get an average sale of T 3,500?

Ans o 1 ¥ 3,500
X 2 3,435
X 3 3,480
X 4 3455

Question ID : 9895809698
Chosen Option : 3

Q.6 A car owner buys petrol at T 40, T 50 and T60 per litre for 3 consecutive years. If he spends T 30,000 each year, what is
0 the average cost of a litre of petrol? (correct to two decimal places)

Ans of 1 T48.65
X2 F51.20
X 3 4920
X4 F50
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Question ID : 9895809699
Chosen Option : 4

Q.6 P works twice as fast as Q. If Q can complete a task in 36 days independently. the number of days in which P and Q can
1 together complete the task in:

Ans  off 1. 12 days
X 2. 9 days

< 3. 16 days
X 4. 18 days

Question ID : 9895809716
Chosen Option : 1

Q.6 A train passes a platform in 42 seconds and a man standing on the platform in 25 seconds. If the speed of the train is
2 72 km/hr, what is the length of the platform?

Ans X1 300 m
X2 270 m
v 3 340 m
X 4 370m

Question ID : 9895809718
Chosen Option : 1

% What is the greatest 3-digit number divisible by 4.'5.and 67

Ans X' 1990
X 2930
v 3 960
< 4. 900

Question ID : 9895809705
Chosen Option : 3

Q.6 Ifaequals 20% of ¢ and b equals 40% of ¢, then which one of the following is 150% of b?
4

Ans X 1. 50% of ¢
X 2. 250%of a
X 3. 65% of ¢
v 4 300% of a

Question ID : 9895809706
Chosen Option : 4

Q.6 Two numbers A and B are respectively 80% and 50% more than the third number C. What is the ratio of A and B?
5

Ans of1.6:5
X25:6
X 38:5
X45:8

Question ID : 9895809710
Chosen Option : 3

Q.6
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6 A cloth piece was purchased for ¥ 700. At what price should it be sold to get a profit of 12.5% after a tailoring charge of
T 20 was paid for?

Ans X 1. ¥ 760
v 2 7310
X3 T785
< 4 T840

Question ID : 9895809707
Chosen Option : 1

Q.6 The length of the bridge, which a train 400 metres long and travelling at 60 km/hr can cross in 36 seconds, is:
7

Ans X1 450 m
X 2 250m
v 3 200m
X 4. 500 m

Question ID : 9895809719
Chosen Option : 1

Qés Find the value of:
(11+4)—9x1+30f4
i

4

v

X35
<43

Ans

Question ID : 9895809700
Chosen Option : 3

Q.6 The pie charts show the market share of the companies in the detergent market in 2017 and 2018. The total size of the
9 market has decreased from ¥ 300 crores to ¥ 200 crores. What is the decrease in the sales of Company F?

DISTRIBUTION OF SALES IN 2017 DISTRIBUTION OF SALES IN 2018

Ans 1
X1 14-%
3
1
X 212-%
3
1
X 3.33-%
3
1
v 13-%
3
Question ID : 9895809722
Chosen Option : 4
Q.7
0
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The line graph shows the scores of a batsman in 6 consecutive
matches. What is his batting average in the 6 matches?

Score in each Match

& & B

2

1 x 3 4 5 &

Ans X 1. 37.19
X 2 38.33
X 3. 38.17
v 3917

Question ID : 9895809720
Chosen Option : 2

Q1-7 If the selling price is tripled. the profit becomes 5 times. What is the profit percent?

Ans  of 1. 100%
X 2. 200%
X 3 50%
X 4. 150%

Question ID : 9895809708
Chosen Option : 3

Q.7 A sum fetched a total simple interest of ¥ 1.350 at 9% p.a. in 5 years. What is the sum?
2

Ans X 1. F2,000
X 2. ¥3,300
X 3 .¥2,500
v+ Z3.000

Question ID : 9895809712
Chosen Option : 2

%7 What is the value of x if the mean of 21, 26, 49 and x is 32?

Ans xl_ 30
X2 36
V'3 32
X434

Question ID : 9895809704
Chosen Option : 3

Q.7 1If 15 apples cost as much as 6 strawberries, 2 strawberries cost as much as 16 bananas, 6 bananas cost as much as 15
4  potatoes, then what is the cost of 1 potato if an apple costs T 20?

Ans X 1. F25
X 2 2250
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V2 %250
X4 T225

Question ID : 9895809709
Chosen Option : 3

Q.7 A sumof3 1,000 becomes T 1,144.90 in 2 vears. At what rate is the interest is compounded annually?
5

Ans “1. 794
X 2 5%
X 3 8%
X 4 6%

Question ID : 9895809702
Chosen Option : 1

Section : English Language

Q1 Select the synonym of the given word.

COMPASSION
Ans X 1. Indifference
& 2. Heartlessness
X 3. Cruelty

W 2 Pity

Question ID : 9895809893
Chosen Option : 3

Q2 gelect the wrongly spelt word.
Ans X 1. Believe

X 2. Conscience

v 2 Trresistable

75 4. Apparent

Question ID : 9895809901
Chosen Option : 1

Q.3 Identify the segment in the sentence which contains the grammatical error from the given options.

Thunderstorms develop in hot. humid tropical areas like India much to frequently.
Ane X 1 tro pical areas
< 2. frequently
/< 3. Thunderstorms develop

v 4 much to

Question ID : 9895809878
Chosen Option : 1

Q.4
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Select the word which means the same as the group of words given.
Intentionally starting a fire to damage something
Ans 1. Extinguish
v 2 Arson
X 3. Crime
X 4. Loot

Question ID : 9895809898
Chosen Option : 1

Q.5 Identify the segment in the sentence which contains the grammatical error from the given options.

The earthy fragrance of soil after a first rain is always refreshing.
Ans X 1. always refreshing
X 2. The earthy

'3 a first rain
X 4. fragrance of

Question ID : 9895809880
Chosen Option : 2

Q.6 Select the most appropriate word to fill in the blank.

India gets a large number of medical tourists and visitors many countries.

Ans 1. through
X 2. by
v 2 from
X 4. across

Question ID : 9895809885
Chosen Option : 3

Q.7 Select the most appropriate option to substitute the underlined segment in the given sentence. If there is no need to
substitute it, select No substitution required.

In vigorous exercise, the demand for bodily energy is very high.

Ans - . )
" X L Invigorously exercise

/< 2. No substitution required

/< 3. While vigorous exercise

v During vigorous exercise

Question ID : 9895809883
Chosen Option : 1

Q8 Select the most appropriate word to fill in the blank.

Unlike the calm waters of lakes, ocean water keeps moving

Ans X' 1. continuous

' 2. continuously
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< 3. continue

/< 4. continuing

Question ID : 9895809884
Chosen Option : 1

Q9 Select the wrongly spelt word.
Ans X 1. leisure

+ 2. Independant

X 3. Judgment

X 4. license

Question ID : 9895809900
Chosen Option : 4

Qo'l Select the most appropriate word to fill in the blank.

After reaching New York, Prakash will have to himself to the
new surroundings.

Ans 2 1. develop
X 2. mix
X 3. submit
v o adapt

Question ID : 9895809903
Chosen Option : 3

Q1 Select the meaning of the given idiom.
Bite off more than one can chew

Ans 1. To have an upset stomach
< 2. To be always hungry

v 3. To take more than one can deal with
& 4. To attack fiercely

Question ID : 9895809896
Chosen Option : 4

Q! Select the most appropriate word to fill in the blank.

The authorities have  into this incident.
Ans X 1. examined
X 2. evaluated
X 3. tested
' 2 probed

Question ID : 9895809902
Chosen Option : 2

Q.1
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3 Select the most appropriate option to substitute the underlined segment in the given sentence. If there is no need to
substitute it, select No substitution required.

The food is broke down into useful substances that can be absorbed by the body.

Ans  of 1 is broken down
X 2. break down
X 3. is breaking down

< 4. No substitution required

Question ID : 9895809882
Chosen Option : 2

Q‘il Select the antonym of the given word.

AGONY

Ans X1 Suffering
< 2. Affliction
v 2. Pleasure
& 4. Pain

Question ID : 9895809894
Chosen Option : 1

Q.1 Select the most appropriate option to substitute the underlined segment in the given sentence. If there is no need to
5 substitute it, select No substitution required.

Yesterday, Maria was eagerly waited to meet her grandparents.

Ans X 1. No substitution required

X 2. was eagerly waited
< 3. eagerly wait

W' 2 was eagerly waiting

Question ID : 9895809881
Chosen Option : 4

Q.1 Identify the segment in the sentence which contains the grammatical error from the given options.
6
Continuous heavy rainfall may farther worsen the flood situation.

Ans X 1 rainfall may
& 2. Continuous
V' 3 farther

X 4 flood situation

Question ID : 9895809879
Chosen Option : 3

Q7'1 Select the word which means the same as the group of words given.

A person employed to drive a private or hired car

Ans  of 1 Chauffeur
/< 2. Astronaut
X 3. Sailor
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Question ID : 9895809899
Chosen Option : 4

Comprehension:

In the following passage some words have been deleted. Fill in the
blanks with the help of the alternatives given. Select the most appropriate
option for each number.

Settlements are (1) where people build their homes. (2)
human beings lived on trees and (3) caves. When they started (4)
crops it became (5) to have a permanent home.

SubQuestion No : 18

Qél Select the most appropriate option that will fill in the blank
number 1

Ans X 1. quarters

< 2. sections
/5 3. passages
v places

Question ID : 9895809887
Chosen Option : 4

Comprehension:

In the following passage some words have been deleted. Fill in the
blanks with the help of the alternatives given. Select the most appropriate
option for each number.

Settlements are (1) where people build their homes. (2)
human beings lived on trees and (3) caves. When they started (4)
crops it became (3) to have a permanent home.

SubQuestion No : 19

Qél Select the most appropriate option that will fill in the blank
number 2

Ans X 1. Prior
& 2. Previous
v 3. Early
< 4 Initial

Question ID : 9895809888
Chosen Option : 2

Comprehension:

In the following passage some words have been deleted. Fill in the
blanks with the help of the alternatives given. Select the most appropriate
option for each number.

Settlements are (1) where people build their homes. (2)
human beings lived on trees and (3) caves. When they started (4)
crops it became (5) to have a permanent home.

SubQuestion No : 20

de Select the most appropriate option that will fill in the blank
number 3
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Ans X 1. around
& 2 on
< 3 at
v 4 in

Question ID : 9895809889
Chosen Option : 2

Comprehension:

In the following passage some words have been deleted. Fill in the
blanks with the help of the alternatives given. Select the most appropriate
option for each number.

Settlements are (1) where people build their homes. (2)
human beings lived on trees and (3) caves. When they started (4)
crops it became (5) to have a permanent home.

SubQuestion No : 21

Ql'z Select the most appropriate option that will fill in the blank
number 4

Ans Jl. growing
/5 2. grows
/5 3. grown
5 4 grow

Question ID : 9895809890
Chosen Option : 1

Comprehension:

In the following passage some words have been deleted. Fill in the
blanks with the help of the alternatives given. Select the most appropriate
option for each number.

Settlements are (1) where people build their homes. (2)
human beings lived on trees and (3) caves. When they started (4)
crops it became (3) to have a permanent home.

SubQuestion No : 22

22 Select the most appropriate option that will fill in the blank
number 5

Ans X1 peeded
#< 2. required
o 3. necessary

< 4 requirement

Question ID : 9895809891
Chosen Option : 1

Q2 e
5 Select the synonym of the given word.

GRATIFICATION
Ans X 1. Dissatisfaction

v 2 satisfaction
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X 3. Complaint

7% 4. Annoyance

Question ID : 9895809892
Chosen Option : 1

Q2 Select the antonym of the given word.

AGREEMENT
Ans  of 1. Discord
X 2. Accord
< 3. Consensus
75 4. Harmony

Question ID : 9895809895
Chosen Option : 1

Q2 Select the meaning of the given idiom.

Under the gun

Ans X1 To be cruel
X 2. To be brave
X 3. To be killed

« 4. To be under pressure

Question ID : 9895809897
Chosen Option : 3

Section : Hindi Language

% ‘gare’ @ e o § -
A X1 e

X2 SRR

X s

v o AR

Question ID : 98958010027
Chosen Option : --

Q2 fyw a1w arrr # Yw@ifha @E WO R & BT 395 BekeT w1 T +
FC A g W A WA FEU A |

Ans o\ TEI
v 2. S[ETTd
X s TETfer
X 4. TEgaer
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Question ID : 98958010013
Chosen Option : --

®* T @ AT AT TETEY T HE HT E -
Ans of | TTF ST FLAT

X 2 gee H g=aT

X o T ST g

Ko FT F g

Question ID : 98958010029
Chosen Option : --

T IE aTer weE T EAE H
Ans Xl- amﬁ

X2 st

X sy

v o 3l

Question ID : 98958010033
Chosen Option : --

F P Tt #Y o & AT 3UgEA oeg AT L
IR B AT T F ST 3T £
AN X1 g
X 2 TaTeerEEr
K 3 qrrEeEET
v 4 AT

Question ID : 98958010017
Chosen Option : --

Q6 faw arw arrr # twifha WS @ wioEuRE W & BT 39gd Rehed @ waa #
Fae 7 ypieed @ Ear

ANS X1 R
X > sefa
v o giefeus
X 4+ gig

Question ID : 98958010012
Chosen Option : --

7 T I ey Asg W WS L

Ans
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X 1 oregrer
< 2. gaerer
X 3 g
v 4 gearar

Question ID : 98958010032
Chosen Option : --

8 gz ereg T TehE ereg -
Ans Xl' a‘_ﬂﬁ_

X 2 st

X s g

v

Question ID : 98958010024
Chosen Option : --

Q9 fiw aTT I T AT A A Fe IR L

58 FR & U ®o WA o1, 38 AR A FH TG HE o T
i K et e e o w9

X2 38 TR #

X 3 TH WS @4 o,

v g we A

Question ID : 98958010008
Chosen Option : --

%! e Tu= # R & T suged oRe # TI

THIUT H ofeET & FareT A ¥ HH =T AT
Ans of | s

&< 2. T

X3 Hgar

X4 goa

Question ID : 98958010015
Chosen Option : --

G mREEdr FT oETE o
Ans Jl. mﬁ.

X 2. grEfready
X 3 AT
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K4 TR

Question ID : 98958010026
Chosen Option : --

Comprehension:
Trafof@a o & Rea wuEr #r 9fF egmr & @ e
T JoA F AR HIST-

T w7 Fi O TeT ¥ 39 W fEw e ¥ oA,
ATRHE HRT (1) &7 319 X o HoT o § a7 712
U AAA HTH FeH Sl §, TF H g F Yo-Fea AR
- 3T T BT & AR TH AR 39 & Y Fehe
T FT (2) &, I WA Hael FF FEAT T
g1 e 319 W 3T 39K g, 38 T $T HEr 4
HTTHT TH FIed g7 g7 SO 3! 3 JEET TIE, F
FET AT HIAT ATGHST H T H IR & AT, HTH H

(3) & HFT HU| FER A (4) FgemaT AR
AGEaHT H HT=T Ffd oI5 03| g o0 7§, T2 7
HTIROT LT g1 59 I T ITelad e (5) =T 9T OT
Te F WA B

SubQuestion No : 12
% sy F ST Rea e (1) & RBw
3UYFT AT B
Ans 1. ATeJATST
XK 2. JrSgHINT
W 5 JSTeTST
X4 FEr AT

Question ID : 98958010019
Chosen Option : --

Comprehension:
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fafof@a oy & Raa wuer #r 9fF ae@mr & J=
T geAT & HFAR Hriere-

H A 7 el o Few @ 3W W faAw faar € fF A
A 3R (1) &7 319 9 F& FOT o § a1 T2
Teh SAal] T FeH gal g, Teh $I 7lg H TA-FHhea 3N
Tr-dET AT T2 B & 3R TF HH IR 1Er B TR
FEE _(2) & AT WA S # GEAT a=
gl T 319 W 3T 39S B, 38F 00 $T e #7140
HTIHT TH Faed el g7 “UN SSAT! 337 JoET O, F:T
FAT HIT HTAT FTGTET H FIT H TR @ FTH, FOA H

(3) & HFd HU| FER A (4) wFgemaT AR
ATGEaS § HIA Hifd B 31| WG o T, T8 99
TTERUT 74T g1 5T I HT el FAT (5) #r 9T 9T

To & AT gl
SubQuestion No : 13
%! e F EHET R wE (2) ¥ R
39YFA G B
ANS f ot
> 2 ﬂﬁﬁ'

< 3. IF &+
X o sfEa

Question ID : 98958010020
Chosen Option : --

Comprehension:
et g & e wum fr 9fd seamer & #$=r oo
T FIAT & HFAR =i

Y AR & Fel U Fe ¥ 3@ W faEw faar § R w,
ATgefE AT (1) &7 31T T FS FHOT o § a1 F7EN?
T AT HTH e Gl ¢, T HF 9Mg H Tel-FEhl 3R
G-I 3T T g & HIT T AT 39 s F Fehe
FE A (2) & TR WA A= B GEHT S
gl @ 319 W 3T 39K g, 38F 0T Fo e #7440
HTTHT TIH Faed el 27 U HA1SAT! 33T HeET BIE!, AT
FAT 3T FTAT ATGETET H FIT H TR @ FTH, A H

(3) & HFa HU| FEX A (4) Fgemair 3T
HihaH & 39 R S5 3| WG A @, TE I
TTIROT FET 81 39 F9 FT 90 AT (5) #r 9T T
ool & TAW 2
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SubQuestion No : 14

% ey #F wFfaT feg we (3) ¥ B
IIGFA e, ZT|

Ans

X 1 gaETHRT
v 2 R
X 5. HTHOT
o TEHIT

Question ID : 98958010021
Chosen Option : --

Comprehension:
fafof@T o & Rea wuer #r 9fF ae@mr & J= e
T GeAT & HFAR HIiere-

3w o wel o ged ¥ 36 W famw e ® oA,
ATEE HRT (1) T AT 9T FS FHOT o § AT FGI?
Tk ] IR FAeH gl 8, T $I 7lig H WeA-FHes] 3N
- 3T ToT g § AT U AT I sTEr Y
FAH_ (2) &, I WHINE G B GEAT S
¢ feT 379 W 3T 39K g, 38+ 0T FO S #740
TR ITH Fded AGT 22 ST s3] 33T JEET o, FAT
FAT AT HTAT ATGTST H FIT H T @ A, 3G F

(3) & HFd HU| FER A (4) Fgama 3H
AgEs # 3T AfT Bl J WY oA ©, TF I
TTIROT 47 &1 $9 I T ATl HAT (5) #r aT 9T
ToS F THA B

SubQuestion No : 15
% ey F wHfae Rea = (4) F R
3UgFT UeE G
Ans v %El_cﬂl'
X2 |
< 3 T
X 4 g

Question ID : 98958010022
Chosen Option : --

Comprehension:
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fafof@T o & Raa wuer #r 9fF ae@mr & J= '
T GeAT & HFAR HIire-

3w o wl o ged ¥ 36 W faEw R § oA,
ATEE HRT (1) T AT 9T FS FHOT o § AT FGI?
Tk FAA] IR FAeH gal g, Teh $I 7ig H WeA-hHeal 3N
- 3T ToT B § AT TF AT 39 sEr Y T
T Fr (2) &, 3T WA e FF GEAG ST
¢ e 379 W 3T 39S B, 38F 0T FT e w740
TR TIH Foed Fdl g7 TN e 337 HTIET O, HFT
FAT AT FTT TGS H FIT H TR @ FTHL, 3 F

(3) & FFd HU| FER A (4) FgamaT 3R
Ag@Es # JTA AT B FHT W I @, TE I
TIROT FET g1 9 T3 &1 9ol AT (5) #r 9X 9T
ToS F TH B

SubQuestion No : 16
% e F gafaT Reg T (5) ¥ R
3UgFT AT EE
Ans x’ 1 Wl?ﬁ'
X 2 gfaaf
< 3 dedar
o TR

Question ID : 98958010023
Chosen Option : --

Y R T o F R suge e # w7

7 F forelr iy 396 e €, 7 Ry A |

Ans X1 e
X 2 F=OT
/< 3. FITHT
v 4 3mereRT

Question ID : 98958010016
Chosen Option : --

U geer F feiE aeE ¥ -
Ans x’ 1 ‘:Rﬁ'.ﬁ'

v R

X 3 3T

X =feT
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Question ID : 98958010025
Chosen Option : --

% S 3l G F WA A F T UF eeg w¥Ed AT &
Ans of 1 3STAT

X 2. IAETT

X5 il

X 4 el

Question ID : 98958010031
Chosen Option : --

% TR 1 He 0T TEEy & ow Yy -
i XKL fEs & s &

X 2. G 33T

o IEAT AA H & o

K 4 orffier g

Question ID : 98958010028
Chosen Option : --

Ql-2 T 7w a7 # Wwifea @3 #°t yiorafa == ¥ R s9gsa GeeT &1 799 &
Fereet AT S B wee #
Ans of 1 HET
X2 Tem
Ko HTET
X4.§:i?;ﬁ

Question ID : 98958010011
Chosen Option : --

% wfa aa ¥ e amE & R o o i
Ans Xl??‘r

v 2 HETE

X 3 GUE

X4 F:BR

Question ID : 98958010030
Chosen Option : --

% R T I # 3 AT A9 wY S S IR 2
e AT F v 7 T st e e

Ans
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X 1 Feeeor
X2 ot R e
X s =fafy = aww &
v o FEIT

Question ID : 98958010010
Chosen Option : --

% R T F R F BT 3T aee F IO H
IH AT HIAH AT FU HH T S FAT W F I g

Ans «1. Q:Eﬂ'q-
X 2. gETaTT
X3 gaT
X4.?—__|.EE,'

Question ID : 98958010014
Chosen Option : --

%? Rw aIT A= 7 9g A A R e FE IR g

AEETelr I 3HF ITTRT g9 F forw g7 999 varw T a1 §)
X 1 g7 99 garg fRar av

X 2 e I9aEt

X3 g & T

v 4 oregTael @

Ans

Question ID : 98958010009
Chosen Option : --
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